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Answer all the question

efine work. State Its S.1. unit. oy
State two differences between centrlpetal and centrlfugal force.

. /A man exerts a force of 100N In pulling a cart ata constant speed of 20m/s.

alculate the power spent by the man. '

) \}S??fe two differences between class I and class 11 Iever. _

R O bfv

at Is the use of the lever If Its mechanical advantage-
_ More than one
/ Equal to one

\stﬂon ) g

A light ray suffers reflection and refraction at the boundary In passing from alrto - 2
vater. Draw a dlagram and label angle of lncldence, angle of reﬂectlon and angle

refractlon.
For which colour of white light, Is the refractlve Index of a transparent medium: rZ
f/Least _
Most . o S
\/Zlve sclentific reason: A tank appears shallow than Its actual depth. #
tate the essential conditions for total Internal reflection to take place. L
State two properties of ultra vlolet radiations,which differ.from visible light. - T
estlon 3 "
State two differences between light and sound waves, . A
Define forced vibratlons. What can you say about the amplitude of a body )
n ergoing forced vibration? _
mment on the statement: Pitch of a sound Is subjectlve in nature, whlle r’
equency Is objective In nature, =
Two wi.yes of the same material and same length have radll imm and 2 mm 3
ectively. Compare their: '
esistance o " s
Jy/gpeclﬂc resistance - - o’ o |
‘Define internal resistance of a cell. . ,
uestion 4 -
jA Alectric bulb Is rated 240v, 100w, What information does this convey? &
Iculate the current in the bulb. .
by Abulb of power 50w ls used for 12 hrs a day. Calculate the energy consumed n &
s e B
c)/ What Is a transformer? What Is lts prlnclple? 2
efine speclfic heat capacity and state ks S1 unlt. 2
What are background radlation? Glve one example. 7 >,

gsvi, Py - _
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Answer any four questions

ek and tackle system of pulleys ‘havin

: wefght. Glve reason.

Ay

Ndicate dearly the polints of application arJ the dh'ectlo

ed oulley the veloclty ratio Is alway" more than the mec

i) The lowar block of a block and tackle pulley system must be of negligible

3
| veloclty, ratio 5. In
9 ons G f the 5
hanlcal 4
3
4

Figure shows a point source P inside a water contalner. Three rays A, B, C. starting
from the source P are shown upto the water surface. Show in the d:agram the path 3

...of.
48 Na

_Mthe phenomenon which the rays A and c exhlbit

show the lmage formation.

N e s R A

A R o

LR

% oIJject Is placed at a dlstance of 20crn In front ofa condave Iens of focal :
ength 20cm Find the position of the image and the magnification of the lmage
"What ls a fuse? Where Is |t connected? .What material Is lt made of? o

ése rays aftey striking the water surface. The critical angle for water anr surfaces

A Iens forms an uprlght and diminished |mage of an objecL Draw a ray diagram to

o]

i

'S nd boxes The fork A is set Into vibration:
J Narne the vibration that the alr in the sound box unde
s loudnas along with the reason. .-

loudnss and amplitude.,

,?z

Py.2

Name the vibration that the tuning fork B undergoes an

"S

Flg' re shows two tuning forks A and B of the same frequency mounted on two

oes and comment on

d comment onits
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mpieter,

o8 flcu te the4valent resistance between P and Q and-t‘e/readlng of the

NEfme the 3 connecting wires used In a houséﬁéld’&ﬁ:ult.

y _\_anch of the two wires mentioned In part (i) are at the same potential?
/ In which of the wlres stated in part (i) the switch Is connected

I

. ; Draw a dircult dlagram representing a dual control switch, In the ‘ON’ position, 4
Which of the two cables 5A or 154 will be of thicker wire. Glve reason for your '
answer, ;

’ uestion 9 :
: 2

\%fﬂ the term specific latent heat of meltlhg ofiée. State its ST unit.
Glyt sclentific reason for the following: s .
)

n

The weather becomes very cold after a hail storm. .
- Food cooked faster In a pressure cocker. » ' ' ' 2
259g of water at 30° C Js present in copper vessel of mass 509. Calculate the mass
;:cltg required to bring down the temperature of the vessel and Its contents to 4
Specific latent heat of ice 336)/g
Specific heat capacity of water 4.23/9/k
" Spedific heat capacity of copper 0.41/9/k

.Question 10 - N

a) ‘ . 3
i) -Define nuclear fusion and write one equation representing the reaction.
ii} = Whatis nuclear waste? ' :

b) A nucleus 4 Na Is radloactive:
1) What are the numbers 11 and 24 called? = 3
i) Write an equation representing the beta decay of the given nucleus
i)  What name Is given to the product nucleus with respect to J:Na

c) _ N 5

A w— | .

The dlagram shows a coll connected to a galvanometer and a magnet which moves
In the direction shown In the dlagram. Describe the observation In the galvanometer:
I) The magnet Is moved rapldly )

)] The magnet Is kept stationery after It has moved Into the coil

in) The polarity of the coll at A and B
iv) How would the observation In the galvanometer change If 2 more powerfu

_ magnet Is used,

Pa:'&

¥y
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